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Topic:- Child Development & Pedagogy (CDP)

1) A student is provided with a choice of 15 topics of his/her interest to complete an
assignment. This increases his/her learning engagement. / Th ST Ca m
R HH & O 396 /IT@! 3 & 15 ifus &8 &id 31 98 3P

SftRTH o # gfg Ha1 B

1. Intellectual /Eﬁm
2. Behavioural/ ogdglR

3. Emotional /HIdd
4. Social / ATHISIH

Correct Answer :-

« Intellectual /@W

2) ADHD children have difficulties in which of the following areas? /

rafafed § 3 e & & cSivad) 9= &) Sfo=E g 22
1. All of the above/?qgaﬂﬁ‘l-ﬁ
2. Attention onIy/av_OW“[ T AT

3. Hyperactivity only / Had 3ffd Afbad

4, Impulse control onIy/W 31T g

Correct Answer :-

+ All of the above /quaﬂqﬂ-ﬁ

3) In an intelligence test a 9 years old boy is found to have mental age of 10 years , he belongs

to the IQ classification of . | TP g@ qdteor o TPh 9 I9 & m P! AFR®



39 10 94 UTE ST<l §, 98 & TSR TTHRuT I el g1
1. Superior / 9§ (UIRWR)

2. Average / 31d

3. Genius / IfTHTRITSN (STifa)

4. Slow learner / HEUTE! (Tl AR

Correct Answer :-

» Average / 3fa

4) Which theory of development also focuses on social interactions in development? / ﬁ?"l’\q

P1 BI9-91 Rigia, ooy & armfore Jaef iR WY s $iga swarg?
1. Vygotsky / CIENIRS]
2. Piaget/ﬁﬂT@I

3. Freud / /hTIS

4. Kohlberg/ W’f
Correct Answer :-

. Vygotsky / T3]

5) Asking students to list the uses of iron metal in class will help a teacher to examine which one

of the following creative abilities in students? / S Bl DET s | Fﬁ% | YTd & IUART &I
THlag $31 & T w1 ve Riersd &+ gg s # "eg o3 & o # Fufafag o
I PI-H) ITATHS W1 82

1. Flexibility / CTaITell

2. Originality / Aiferepar
3. Elaboration m
4. Fluency / Udlg

Correct Answer :-

o Fluency /Ydlg

6) The movement in Maslow’s Hierarchy of needs should be from | AT & URUMT &
UeTIshd | TaRAS i g+ a1fee-

1. Love and belonging to Physiological needs / IR 3R YATY F AT ST e

2. Self- actualization to Physiological needs / TH-[IRAYOT T TSI SHTaIh T dh



3. Safety needs to Self-actualization / R&IT TAIDH T F 3HTH [Tl b

4. Physiological needs to Self —actualization / IS TIRAH T ¥ 3T Rifg

Correct Answer :-

« Physiological needs to Self —actualization / g Sargehdl ¥ 3T Rifg d&

7) Select the quality that is needed for a counselor. / W’Qfa'm & ﬁ‘l’({ STaRIP fIRwar &1
T I

1. being judgmental/ OO B
2. being arrogant / S g

3. being empathetic / TETIH[T TR Il

4. being defensive / Y&THD Eﬁ:ﬂ

Correct Answer :-

« being empathetic / ETYfd TR B

8) What is an infant likely to suffer from if the mother consumed large amounts of alcohol

during pregnancy? / mﬂm%mﬁﬁﬁmﬁwmwm%ﬁr
R &t a1 JHEE B11 B UTEAT 82

1. Prenatal retardation / Ud ‘Jﬁ Hedl

2. Fetal withdrawal syndrome / YUl B ﬁl@'q

3. Fetal alcohol syndrome / Y01 He g

4. Perinatal alcohol syndrome / TIAehTRil HeJ ﬁl@ﬂ

Correct Answer :-

« Fetal alcohol syndrome / YUT ¢ Rigia

9) What strategy should a teacher use in a situation when the student is being impolite? /

B & 358 8l o &I FRUTT & v Riere & fvw Yor-fa ST ST H=1 A1 e?

1. Punishment / 68

2. Remind the student of classroom norms / P&l o o B Bt Jlq Iracﬂ-ll

3. Argue with the student / ST & 1Y dTe-fadrg H

4. Express shock / efaferd #R oAl

Correct Answer :-



« Remind the student of classroom norms / D&l gH B Bl BI Jlq iaﬂl"ll

10) What is the term given to describe the conditioned stimulus before classical conditioning

occurs?/mm@%@maﬂﬁﬁﬁﬁwmaﬁhwa?mﬁq-m
e far mar g

1. Natural stimulus / HThfdd So]
2. Unconditioned stimulus / {Ts{eId SoHT1

3. General stimulus / JTHTT ST

4. Neutral stimulus / & RSEEI

Correct Answer :-

« Neutral stimulus / dc& G%TB‘FH

11) What is the set of linguistic rules that govern the use of language for communication

caned%/uw@ﬁuﬁmagﬁnmw%aﬁaw%ﬁuwa?mﬁﬁﬁm
PIATE?

1. Grammar / HIhT[

2. Phonemes / af=1d

3. Pragmatics / JUIRTdTarg
4, Syntax / Al ﬁiﬂ:l

Correct Answer :-

. Pragmatics/EClEmil(_'llala

12) By the age of six months, infants are able to do the following, except ./ 9 'FI_Eﬁﬁ

Mogae, RgREm_ FPeRiRasiswdvemdad
1. Babbling / JAQTT

2. Crawling / Ud & & a1 (hITeiT)

3. Sit up / 939

4. Eat solids / 319 &1 @M1

Correct Answer :-

o Crawling /%%WW m“i%m)



When social beliefs are transferred from one generation to another, it becomes part of: / oI

Wﬁlﬁ;ﬁﬂeﬁﬁwﬂaﬁmmﬁﬁmﬁmm%ﬂwwm
o SIIdl &:

1. Transmission of culture / H@f& CARIERY
2. Social mobility / IS CRIGRINGI]

3. Social change / AT aRacH

4, Individual development / Hfeard faer

Correct Answer :-

+ Transmission of culture / ﬂﬂv—f?f BT R0

14) Personality is measured based on approach./ fdae &t HECIL|
& JTYTR R {IUT AT 5 |

1. Ideographic/ TeRT&R faves (3msfeal wfthep)
2. Socio-radical / JHHTT-HERUU

3. Surface-radical/ ﬂﬂﬁ-mﬁ
4. Nomothetic/ FTHFAY! SN ([HIACIH)

Correct Answer :-

« Nomothetic/ FTHFIS! IUFH @YD)

15) In which of Piaget’s 4 development stages is object permanence developed? / g & 4

faer srawmaii ¥ 9 forv sraw # avg =i faws e gt 82
1. Formal Operations / e dfhards

2. Concrete Operational / ﬂjw

3. Preoperational / tlj BIERIRIED

4. Sensorimotor / g@q SIAd

Correct Answer :-

 Sensorimotor / gf%q SIfd

16) Piaget’s Pre-operational stage is from . / Toars @t Qﬁﬂ'ﬁ?ﬂm SARYT
gl

1.7-11 years/7—1la'5f



2. 11 years and above / 11 atTQ‘q’ 3HfeH
3.2 -7years [ 2-7 ¥
4.0 -2 years /0-2 CL

Correct Answer :-

. 2—7years/2—7a'5f

17) Who said, An intelligence is a “biopsychological potential to process information in
certain ways in order to solve problems or create products that are valued in at least one

culture or communlty” WW §@THT WTGﬁ aﬁsamﬁmw@raﬂrw
TP i a1 AT H eudT SdT6] &) 991 & Y $© a8ie) A THaRI & JHifid
mﬁ%ﬁmﬁaﬁ%mﬁ&nﬁn%l"

1. Gardner/ TSR

2. Willingham/ fafeRTed
3. Callahan/dreer

4. Sattler/ @EFIT

Correct Answer :-

o Gardner/ ‘Ilé:lq

18) According to Psychosexual developmental theory, failure to successfully complete a

particular stage would result in: / e A Rrgia & SR, Uh =Ry R+t
Ahadrgd® RT B3 J f[awadar & uRumia=y gim:

1. Fixation / RIS (ﬁ'ﬁ:\a’ﬂ:{)
2. Libido / STHIISHT

3. Electra complex / Q@FRAT HARIY
4, Oedipus complex / NfSTq Iy

Correct Answer :-

« Fixation / RRIH (ftb_d@?l:f)

19) By what age are children likely to make friends? / oSy e & TP
gid g2

1. Four years / IR Y
2. Three years / NG GL



3. One year / waﬁ
4, Two years /EBI GL

Correct Answer :-

o Three years / iG] GL

20) is the main determinant of cognitive development and learning. /

TS e SR siftnma 1 grer Frufve &1
1. Values / G‘IE'&I'CIT'T

2. Beliefs / HI-IdI

3. Principles / Rygid

4. Culture / ﬂ@ﬁf

Correct Answer :-

+ Culture / ﬂ@ﬁf

21) If a child has difficulty putting words down on paper, it may be due to a learning
disability. The best instructional strategy to implement in a classroom to support children

who struggle with writing would be to: / gfe frdl 9= &l I B IR R for@a o
SfSATS Bidl 8, d T IRATH H&HdT P PRUI S Hhdl ¢ | ARG P 1Y TS B aret
aﬁmwﬁﬂjﬁaﬂﬁ%m$ﬁﬁmmﬁ%§ma@mvﬁﬁ

1. Provide more time on task/ P14 TR Hfeh THY Ul dhAl

2. Provide extended periods of time in the resource room to receive one-on-one assistance/ d--

3{19-g TgTIdT U B3 & e Tq1eA el H 7y B foxaivg 31afd U™ &A1

3. Provide peer tutoring during writing time/ Qe 9HY o (fl%l'-l dedh of YXI Hal Al

4. Provide detailed directions and graphic organizers to help with structure./ T & Y Aeq

FRA & oy fagd e iR Wit S UaH &Rl

Correct Answer :-

« Provide detailed directions and graphic organizers to help with structure./ T & Y Heq

HA & fore faegd =T oiR Mithes SRS Ue™ AT

22) The variable that the scientific investigator changes or manipulates is called:/ dg dX

ford A1 SrAue TqeTdT @ U1 8XBR HT 8, I Bl Tl ¢

1. independent variable/ T TR



2. responding variable/ RGN TR
3. Control/ TTH
4. dependent variable/ 3TT3d TR

Correct Answer :-

. independent variable/ ¥Ida TR

23) The mental networks that children form in their mind is known as: / T P ﬁTIT‘T i |

91 a1al ATFRIP Acad & 59 =Y § ST ST 8:
1. Impulses / 3T (3Ucw)

2. Archetypes / 3TERST (3MTFeT3)
3. Maps / dIh] (@)
4. Schemas / TRB T (TH1HT)

Correct Answer :-

o Schemas / UG (E’ﬂTIT)

24) Which animal was involved in Pavlov’s experiment of classical conditioning? /

UTadId & FATRIP A B IR1T & TINT § HI--9T J=a A U712

1. Dog / ol

2. Pigeon / P qd}
3. Rabbit / WRINT

4. Rat / ggl

Correct Answer :-

25) Which of Erikson’s stages of psychosocial development involves the development of a

sense of competence? /W%ﬁwﬁlﬁm%mwﬁmﬁmaﬁ HIg-AT
&1 faowra aftfera giarg?

1. Autonomy vs. shame / ATl ITH ¢\l

2. Industry vs. inferiority / 3TN §-ITH I

3. Generativity vs. stagnation / ST THD AT d-H R

4, Initiative vs. guilt / Ugcl d-H aﬁ?ﬂ



Correct Answer :-

« Industry vs. inferiority / STNT &1 g1

26) Which of the following is not a hindrance to creativity? / Frafafea &9

TS AT & 1T T Sraviy 7181 82

1. Divergent thinking / IRPESIE]

2. Functional fixedness / BT R aRIT
3. Convergent thinking / SR A

4. Mental set / AFRI® I

Correct Answer :-

« Divergent thinking / IEEKIIE]

27) Which of the following disorders is caused due to error in cell division?/ PIRDT

faume  # 3 & sru i § @ S ffeR gar g2
1. ADHD / TSIU<S!

2. Dyslexia / f&ifaaan

3. Autism / 3flfcoH

4. Down’s Syndrome / 313 Rig1H

Correct Answer :-

« Down’s Syndrome / SI3 ﬁlf_@ﬁ

28) The practice that legitimizes powerful men’s dominant position in society and justifies the
subordination of the common male population and women and other marginalized ways of a

being a man is called /a's'umrrﬁmﬁrﬁm?ﬁgw‘raﬁmnﬁ@xﬁrﬁ
Y FATAT B 3R 37 T3 rard} 3R wfgensi & srefiar &1 siifarc ue™ H<dl 8 8k
TP [oY 1 & 3= JHHid aiidb] bl SIS 2|

1. Femininity/%ﬂc_d

2. Emphasized femininity/F?ﬂaq?\_rﬁTa:ﬂ
3. Complicit masculinity/ﬁmtﬁw

4. Hegemonic masculinity/mm

Correct Answer :-

« Hegemonic masculinity / 7o GIoN



29) What do you mean by curriculum? / UTeUhH 9 WWW@HT%’
1. Sum total of the activities of a school. /ﬁWﬁWHﬁWI
2. Sum total of the annual study. /W I B GHUA|

3. A child learns through curriculum. /WWW@[ WW% |

4. Indicates the course to be taught by the teachers to the students throughout the year. /tﬁ a'ﬁf

7 el gRT BT B UGTT S dTdl UTSdshH &) 3R HraT g |

Correct Answer :-

« Indicates the course to be taught by the teachers to the students throughout the year. /03 a*sf

7 Rrerp! gRT BT B UGTT S aTdl UTSdshH &1 3R HRaT g |

30) Students can overcome their misconception for the long term through: /
Tt tafaf o fra wreaw A o= SR S@YRUMS | UR UT 9Fd &
1. Traditional teaching / URUR fRrefor

2. Standard teaching / AT TRI&T0T

3. Refutational teaching/ fARTeRRT fRreror

4. Conventional teaching / TRURITA fRI&f0T

Correct Answer :-

 Refutational teaching/ fARTH0T fRrgor

Topic:- General English(L1GE)

1) Which one of the following is the correct reported speech of the sentence below?
Sangeeta said to me, ™ Will you join me for the movie?”

1. Sangeeta requested me would you join me for the movie?

2. Sangeeta enquired would I join her for the movie.

3. Sangeeta asked me that if [ would join him for the movie.

4. Sangeeta asked me if [ would join her for the movie.

Correct Answer :-

» Sangeeta asked me if [ would join her for the movie.

2) Read the content carefully and answer the questions given below it:



The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have
attained enlightenment at Bodh Gaya. About 200 years after Lord Buddha attained
enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a
monastery and shrine. As part of the temple, he built the diamond throne (called the Vajrasana),
attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

What material is used in building the Vajrasana?

1. Diamonds
2. Bronze
3. Gold

4, Silver

Correct Answer :-
« Diamonds

3) Read the content carefully and answer the questions given below it:

The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have
attained enlightenment at Bodh Gaya. About 200 years after Lord Buddha attained
enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a
monastery and shrine. As part of the temple, he built the diamond throne (called the Vajrasana),
attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

Where is Mahabodhi temple located?

1. Bodh Gaya
2. Jaipur

3. Delhi

4. Raipur

Correct Answer :-

« Bodh Gaya

4) Read the content carefully and answer the questions given below it:



The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have
attained enlightenment at Bodh Gaya. About 200 years after Lord Buddha attained
enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a
monastery and shrine. As part of the temple, he built the diamond throne (called the Vajrasana),
attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

Who was considered to be the founder of Mahabodhi temple?

1. Ashoka

2. Jhansi Rani

3. King Pratap Varma

4. Sri Krishna Devarayala

Correct Answer :-

« Ashoka

5) Read the content carefully and answer the questions given below it:

The Mahabodhi Temple is a Buddhist temple in Bodh Gaya, Bihar. Lord Buddha is said to have
attained enlightenment at Bodh Gaya. About 200 years after Lord Buddha attained
enlightenment, Emperor Ashoka visited Bodh Gaya with the intention of establishing a
monastery and shrine. As part of the temple, he built the diamond throne (called the Vajrasana),
attempting to mark the exact spot of the Buddha’s enlightenment. Ashoka is considered the
founder of the Mahabodhi Temple.

After how many years Ashoka visited Bodh Gaya after the enlightenment of Lord Buddha?

1. 200 years
2. 400 years
3. 500 years
4. 300 years

Correct Answer :-

« 200 years

6) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of
the Ganga. Nilkanth arrived on the river banks where the entire village had gathered to witness
the monsoon rise of the river. The waves crashed against the large boulders on the banks,



making noises that would have scared even the gods. Since it was time for Nilkanth’s afternoon’s
prayers, he decided to bathe in the river before sitting down for meditation. Nilkanth walked
towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the
last monsoon, but Nilkanth was unperturbed. To everyone’s amazement, the river's waves
calmed at the touch of Nilkanth’s feet. Even as he waded deeper into the river’'s waters, he
remained afloat on the crest waves. It was as if the river was accommodating this young yogi’s
desire to bathe in its water. Nilkanth finished bathing and returned to the shore. The river's
waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

Which of the statements is not true according to the passage?

1. The river remained calm after Nilakanth’s bathing

2. Nilkanth had decided to bathe in the river before sitting down for meditation
3. Ramganga river is one of the largest tributaries of the Ganga

4. The waves of the river resumed to show her fury after Nilakant’s bath

Correct Answer :-

e The river remained calm after Nilakanth’s bathing

7) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of
the Ganga. Nilkanth arrived on the river banks where the entire village had gathered to witness
the monsoon rise of the river. The waves crashed against the large boulders on the banks,
making noises that would have scared even the gods. Since it was time for Nilkanth's afternoon’s
prayers, he decided to bathe in the river before sitting down for meditation. Nilkanth walked
towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the
last monsoon, but Nilkanth was unperturbed. To everyone’s amazement, the river's waves
calmed at the touch of Nilkanth’'s feet. Even as he waded deeper into the river's waters, he
remained afloat on the crest waves. It was as if the river was accommodating this young yogi’s
desire to bathe in its water. Nilkanth finished bathing and returned to the shore. The river's
waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

According to the passage, the villagers had thronged the river banks to
1. All of the above

2. watch the waves rising up in the river

3. be amazed at Nilkanth’s feat

4, witness the monsoon rise of the river

Correct Answer :-

e witness the monsoon rise of the river



8) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of
the Ganga. Nilkanth arrived on the river banks where the entire village had gathered to witness
the monsoon rise of the river. The waves crashed against the large boulders on the banks,
making noises that would have scared even the gods. Since it was time for Nilkanth’s afternoon’s
prayers, he decided to bathe in the river before sitting down for meditation. Nilkanth walked
towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the
last monsoon, but Nilkanth was unperturbed. To everyone’s amazement, the river's waves
calmed at the touch of Nilkanth’s feet. Even as he waded deeper into the river's waters, he
remained afloat on the crest waves. It was as if the river was accommodating this young yogi’s
desire to bathe in its water. Nilkanth finished bathing and returned to the shore. The river's
waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

Why was Nilkanth at the river bank that afternoon?
1. He followed his people wherever they went

2. He was keen on showing off his yogic skills

3. He wanted to bathe before offering his prayers

4. He too wanted to witness the monsoon rise of the river

Correct Answer :-

* He wanted to bathe before offering his prayers

9) Read the passage carefully and answer the question given below:

Sahejapur is a small village on the banks on the Ramganga river, one of the largest tributaries of
the Ganga. Nilkanth arrived on the river banks where the entire village had gathered to witness
the monsoon rise of the river. The waves crashed against the large boulders on the banks,
making noises that would have scared even the gods. Since it was time for Nilkanth's afternoon’s
prayers, he decided to bathe in the river before sitting down for meditation. Nilkanth walked
towards the elevated river. The villagers tried to stop him by scaring him with fatal stories of the
last monsoon, but Nilkanth was unperturbed. To everyone’s amazement, the river's waves
calmed at the touch of Nilkanth’s feet. Even as he waded deeper into the river's waters, he
remained afloat on the crest waves. It was as if the river was accommodating this young yogi’s
desire to bathe in its water. Nilkanth finished bathing and returned to the shore. The river's
waves picked up speed and height again, seemingly aware that Nilkanth had completed his bath.

What amazed the people?

1. The river’s calmness as she touched the yogi’s feet
2. The ritual of the river rising and falling

3. The waves crashing on the boulders

4. The monsoon rise of the river



Correct Answer :-

» The river’s calmness as she touched the yogi’s feet

10) Fill in the blank with the correct option to complete the sentence:

, haven’t they?

1. The spectators has taken their seats
2. The spectators hasn't taken their seats
3. The spectators have taken their seats

4. The spectators haven’t taken their seats

Correct Answer :-
» The spectators have taken their seats

11) Fill in the blank with the correct option in the given sentence:

A river that flows into a larger river is a --tary.
1. epi --

2. tribu--

3. projec --

4, orbi --

Correct Answer :-
o tribu--

12) Fill in the blanks with the correct option in the given sentence:

Innovat-- is the key to business surviv --.
1. --ively ... -es

2. --ions ... --ed

3. --ion ... --al

4. --ive ... ings

Correct Answer :-

e --jon ... --al



13) Which of the following options best combines the given sentences?

My result was published. It was in a newspaper. The date is tenth November, 2017.
1. My result was published in a newspaper on 10th November 2017.

2. My result was published on tenth November, 2017 and it was in a newspaper.

3. The date is on which my result was published is tenth November, 2017.

4. On 10th November, 2017, in a newspaper my result was published.

Correct Answer :-

e My result was published in a newspaper on 10th November 2017.

14) Choose appropriate articles for the given sentence:

They built ____ underwater tunnel for pedestrians below ___ Thames River.
1. No article required ... the

2. an ... the

3. an ... no article required

4. a... no article required

Correct Answer :-

e an..the

15) Choose appropriate article for the given sentence:

Tamil Nadu is a beautiful state where ___ sun shines brightly.
1. an

2. the

3.a

4. no article

Correct Answer :-
o the
16) Choose the appropriate option that rewrites the given sentence in its passive voice.

Burning gasses propel a rocket up or forward.



1. Up or forward movement propelling is by burning gasses by the rocket.
2. Rocket is being propelled up or forward by burning gasses.
3. Arocket is propelled up or forward by burning gasses.

4. A rocket propelled up or forward by burning gasses.

Correct Answer :-
e Arocket is propelled up or forward by burning gasses.

17) Choose the appropriate synonym for the highlighted word in the given sentence.

He has become an icon in the movie business.
1. villain

2. idol

3. antagonist

4, reflection

Correct Answer :-

e idol

18) Choose the appropriate tenses to fill in the blanks in the given sentence:

the award from the President, he _____ to underplay it.
1. Receiving... was wanting not
2. Receiving... didn’t wanted
3. After received...wanting

4. Having received... didn’t want

Correct Answer :-
e Having received... didn’t want

19) Choose the appropriate antonym for the highlighted word in the given sentence.

How do we eliminate the malodor from the room?
1. exclude

2. banish



3. accept

4, freeze out

Correct Answer :-
e accept

20) Choose the appropriate conjunction for the given sentence.
I did notgo tothe movie ___ I had already seen it.

1. until

2. but

3.s0

4, because

Correct Answer :-
e because
21) Choose the appropriate prepositions for the given sentence:

Educating children home as an alternative formal education is an option chosen many
families.

1l.in..to..into
2.at..to..by
3. at...against ... in

4, from ... to ... for

Correct Answer :-

22) Choose an appropriate modal for the given sentence:

Some cricket fans have done anything to watch the match yesterday!
1. would
2. must

3. will

4. could

Correct Answer :-



23) Choose an appropriate determiner for the given sentence:

student was distributed a pen on my birthday.

1. Each and every
2. Few
3. All

4, A few

Correct Answer :-
e Each and every

24) Choose the option that best explains the highlighted expression:
The bottle-opener’s a dead loss.

1. useful stuff

2. worn out in parts

3. useless

4, dead material

Correct Answer :-

» useless

25) Choose the most suitable pronoun for the given sentence:
Did you do all the work by ?

1. oneself

2. myself

3. yourself

4, herself

Correct Answer :-

o yourself

26) Read the sentence carefully and choose the option that has an error in it:



One of the students were blind.
1. One of

2. were blind.

3. No error

4, the students

Correct Answer :-

» were blind.
27) Choose the appropriate tense to fill in the blank in the given sentence:

Although it throughout the night, the sky was clear when the IPL match
started.

1. have been raining
2. was raining
3. has been raining

4. had been raining

Correct Answer :-

« had been raining

28) Rewrite the following changing the active sentence to passive.
I begin my work daily at 10 o'clock.

1. Work is begun by me daily at 10 o'clock.

2. My work is being begun by me daily at 10 o'clock.

3. My work has been begun by me daily at daily at 10 o'clock.

4. My work has been begun by me daily at 10 o'clock.

Correct Answer :-

» Work is begun by me daily at 10 o'clock.

29) Choose the option that substitutes the given phrase appropriately.
Dance or musical performance

1. Drama

2. Docudrama



3. Street play

4, Recital

Correct Answer :-

e Recital

30) Choose the right tag:

He will help you, ?

1. won't he
2. won't you
3. will he

4. will you

Correct Answer :-

e won't he

Topic:- General Hindi(L2GH)

1) 3T o HAar § R A 3§ val B A @M 2| TP U4 W RAR SR GREART APl B8 &R
TR S St fag 81 U8 U v W gUR Iy SR WA &1 €} fRreror 81 T gt faieht &Y arben we
o Tforer fe-31a wR<At B1 98 Ty S fF srgpa a1pd SR fFT A WR1 B 1 A ol dug wgT B Sxpfa ot
a8 981 94 $© Ugd 3R Argadhiival iR R 81 T 3R fAm1 R fayra #3 aral & e 39 arar o
PIS SATE T8I 81 T8l 9g! WX & ot I 3R Uit & | ThgH Fardd| IAPST YT § THT BT YT Siae g1
wafe wer & T g8 twen faRidh fRufa 1 wigt arwa ghft agt won =181 ghftl war ik aTed To-gak &
XA 81 U8 BRU ¢ % Fton 3 g9 &Y 99 HIR Fd § W 98 Tt B F T8 7w oft 59w B
3T TE1 8, M TR T WM AF 99 SargaAqs! faen 8 18 3ery, 36 /ars 3 qoft ore a% 3@ 7
Y FHTI° W I8 $S 8! B Toharl 3 Mt T zafial $t sned It 81 715 21 3/ -\ & ofis wfge &
JAST IO M| 3P aRE | B T | §H I A ga-1 Aa-11 791 3 fp 98 Fion & Tfia &t g o1 g7
it T 31 Tg 307 Wil & gfd IoRil 3971 Ui @ $© fia 81 fikiag dxdadt &1 3 8t 33t g1 3t
BeAlYd gid 3T 81 32 uaT @ f Ao Serht smawa, w avft/ee 3@ w=-waviig e A 39 e
W} Swf, wecaTiad, §U, ATEAT WRT g3 8 S XA BT AR 3 39 4T 8 1 IR I U1 3R HHu HT
B 3nft T 8 21 7 FRUT R fp wifta o g1 & 91e T It A g | 3R T 3R 98 39§ AR
TIT S AU & 91 |1 fRaR SITan 2

S T B Ugh -9 YD T Uy BT ITR ga133:
U=H- 410N 3% & qrai?

1. 99 3 TAT-RRI g |

2. OTe 3 RAIGRER H FTET SITQ |

3. O[d 34 3l T S|

4. SId Y Sl I

Correct Answer :-



. 99 I TH-IGRRG Mg A

2) <3raTeg Ao Hfyar # 3R A ) val Bt AT TWT B 1 TH U W) RAR 3R RART WEpid P13 MR
ORI St Srpert fiRiae 81 U8 U oXE © §UR IUY SR WA &1 €1 frror 31 I wigt faRieht &t et et
Bt AR fa1-I1a Bl 31 a5 Iwa N f 3 arpd R RAT & WRT 71 3 ToRdt dug w8l &t wwpta it
2a 81 UgT 99 $© uga 3R IrgeTiar R AR 31 T 3R g1 R fayry #54 aral & fore 99 qrar A
PIS SATE 81 81 T8l 98! WX & St I 3R (Uit &1 ThgH Hardd | IAPST UTNT H THA BT YT Siae g1
WaiP Hal & 1T g8 uwen AR fRufa 81 wigf g gnft gt won 1Y ghft| war iR a1 d Teh-gik &
330 B 1 g8t B ¢ 5 Ao &1 a9 31 99 SIRAN $Fd § W 98 Fordt [pat A 171 e oft s qg ot
W @1 8, ‘W BR T A AF 99 Fard-a/a9! faan g 15 PRy, g gx/aTs g oft onet a% 59 7
Y ST’ W q8 O A8l X abarl 34 W 3D qrarival & sea +t 81 713 31 39 A € s ke &
JAST IUT MY | ISP ARG B BIS T | §H o A g+t da-11 541 3 {5 98 dion & Iefia ot g a1 g7
W var B 1 78 301 Tifta & ufy Torlt 301 vl & $o fira 21 dag rdhadt &1 31 8 34t =1 3t
BeAlYd gl 3G 21 I uaT 2 f Ao Serht smawa, w aft/ee 39 wen-wariis Mg A 39 Wi
W} Swai, AgcaTaial, 3U, T HRT g3 3 S A HT Afard ST 99 T B 1 WR IHH UIAT 3R HHUN BT
e et T e 8 1 98 eROT € o W ihia 9 g & 916 4 9 R @S @ 3R T 3R 98 A & R
TIT 91 qUH & 1€ |1 fReR ST 2

IUYe T B Ugh? 19 U T Uy BT IR qa13d:
WS- el & Y udheH faRiet fRufay B3 82
1. HATDR D Y BT HINT SieT

2. HATBR bl Dl H fored g

3. HADBR P Ifad G A HaT

4. HATHR BT YT &

Correct Answer :-

. HATBR BT UM B YT ST

3) «3rqred Ao Hfadr 7 3Ria A 3 Ual Y AHA 36T 81 U U St AR R R Tpha o718 3R
TR S bt fae 81 U8 U a¥E W gUR JUY SR AT &1 €1 fRreror 81 T gt faieht & srdber HeA
P TIforRT fa1-31d Sl 31 T T S f srgpd drepd R fRT ¥ WRT B1 A o} dua wigt &t wwpfa ot
2fa 31 95T 99 $© Ugg 3R AigaTiRar R AR 31 T o g1 R Ry &1 aral & fore 99 qrar A
PIS SATE 81 81 T8l 9g! WX & ot I 3R Uit || ThgH Fardd | IAPT UTHT § THA BT YT Siae g1
wafe we & T g8 twen faRidh fRufa 1 wigt arwa ghft agt wen =181 ghftl war iR a1ed ta-gwk &
339 81 g8t B ¢ 5 Ao &1 a9 @1 T9 SIRA $Hd § W a5 Fordt (ot A 7871 e +ft su qg ot
39 @7, W TR T W UA A9 FAa-a/A9@! {3 8 18 SRy, of qr/@Is J ol 3w a 39 =
Y BT’ WR 98 $O 8] $R Jharl 39 W T crarfval #Y amed ot 8t 18 31 3 R € ofis =nfge st
IAST VT M | 3P aRE & B T | 37 I A ga-1 Aa=11 791 3 fp 9 Fion & Tfia & g o1 g1
W war B 1 78 301 Tifta & ufa Torit 301 vl A $o i 81 dag rdhadh &1 311 8 54t =1 3t
BeAlYd g 3T 21 32 uaT @ f Ao Serht smawa, w avft/ee 3@ F=-wavii e am e 39 e
W} Swai, AEcaTaian, 3U, TTET HRT g1 3 SN A HT G SFT 9 T § 1 IR IR TSI 3R HHUNM BT
i orft @ =gt 31 adt R @ f wifta B g & a1 3 3l R gs @ 3R T 3R 98 39 € R
TIT S AU+ & 91 |1 fRaR ST 2

SUe T B Ugh? -9 U T Uy BT ITR gaT3d:
WA- <3A1ed 0T BRI & gN et ° DI BT 82

1. Usll



2. fidag
3. oIl
4. JSTGRER]

Correct Answer :-

4) 3T From FHiyar & o 7 g vall P WHA W@ 31 TH U S GRAR 3R AN Ipid BT § 3R
R Sl 3 aT fikiag 81 98 U aig § §HR 9HY 3R THTS $1 81 st 3 1 |1 5igi faRieht &t srdban s
P TIfor=T f3A-31a w3t 81 a8 9wy ) % 3rpa arepd SR fFar & wRT 81 3 ot aua wigl 3t Gxpfa ot
a8 1 98T 99 $© Ugd 3R ArgdhiRal iR AR 31 T iR g1 R Ry #31 aral & fore 39 arar o
P13 oTE 8T 31 98T a8 W & St Fr 3R ol 1 Uhew wardd| IAPT HTHT H WA B U St gl
Waie a1 & e g5 uwew A fRufa 31 wef ared gnft agf war 981 ghftl oo 3ik arpd te-gw &
330 81 € HRU1 ¢ % don 3t go &Y 9 HIRI e § R a8 Feredt B F @ e o 59 = B
W 7T 8, ‘W BR T WM AF 99 dardg-<a/a9s! faen 8 18 sreRY, g gR/@s g qoft onet @@ 39 |
Y FHTI° W T8 $S 6! B Toharl 39 M T ra1ial ot sned It 81 75 81 39 = € ofis =g &
IIDT 0T MY | IS A% § HAIS 7 | 39 o1 A Fa-i1 Aa-71 9191 3 % ag fion & it &1 g o1 351
Wt a1 81 g8 o1 Wiftd & ufar IoRd 351 vl A $o fid 81 fdae Sxrdach &1 31 € 33t 51 9t
BelYd 81d ST 21 I/ uaT ¢ & Ao drentt sirawa, wR avfi/ee 3@ gen-wRkRig e A SHe Wi
Wt Swaf, wecaTial, §U, ATEAT URT g1 8 Sl XM BT AFARE 3 391 717 8 1 IR SIH U1 3R o0 $T
e 3t T 8 8 1 9 PR & o Wil & g1 & 91¢ A 3t A gS @ 3R T o 98 a9 g R
TT 9 qU4 & 1€ |1 AR Srar 2

IUYe TRIRI B TGP 19 IR T Uy HT IR Id133:

TH- <IN ATedT 3R Hour Hia 31t J@r =81 8 1 g a1 frass fore femar man 82
1. dom

2. foRiae SHrebad!

3. WER

4, TSl

Correct Answer :-

5) *3rTed Ao AT § R 7 < Ual B WA @M 1 U U4 S RAR SR A Fpfa #1 ok
U St Srpert fiRiae 81 U8 U OXE © §UR IUY SR WA &1 €1 frror 31 I wigt faRieht &Y et et
Pt AIforR fa1-31a Bl 31 a5 awa SN f 3 arpd R ZAT & WRT 71 3 ToRit duq w8l &t wepta
a8 1 7gT 99 $© uga 3R aigeTiRar W AR 31 T 3R g1 R Ry #531 aral & fore 99 qrar A
PIS oNTE ALY 31 98T a8t WX § St g SR ol 1 Uhen wardd| SAPT HTHT § UTEE B U St gl
SafP He & 1T g8 uwen A fRufa 81 wief g gnft 9t wam 1Y ghft | war iR a1 d Teh-giR &
33 1 98} SR g & fion ot 9o 3t 99 FIRWT 3 § W 98 Foredt {3 & 781 3o oft 37 7w )
3@ T 3, W B8R T M UM T HaAra-aq9a! fae 8 18 eRY, b /@S Frt ol el d% 39 9
Y THTI° W q8 TO A8l X abarl 37 W 3D qrarival & smea +t 81 713 31 39 A & s ke &
IAST IUT MY | ISPt ARG B BAIS T | §H e A g+t da-11 541 3 fF 98 dion & Iefia ot g a1 g7
Wt a1 81 g8 301 Wiftd & ufa IoRi 351 ol A 5 i 81 fdae dxrdach &1 31 & 3t sw=1 9t
BeAlYd gl 3G 21 32 uaT 2 f <dton Serft smaa, w aft/ee 5@ wen-warii e am e 39e Wi
Wt $wf, wecaTeiad, SU, ATEAT WRT g3 € Wil XM BT ARt 3 39 74T 81 IR I Ut 3R FHuN HT



a3t T 8T 31 T IR § for iita o g & 91 3 it R @IS | 3R T iR 98 3§ R
TIT I qU+ & 91 |1 fRaR ST 2

ST TR B UG 19 YD T Uy BT 3TR gaT33:
- g I aread 82

1. PR

2. Tt

3. AHEHE

4. 3

Correct Answer :-

6) *3rTed IO AT & T 7 < V&l P WA @M 1 U U Sl RAR SR A Fepfa 31 8 ok
TR S St fag 81 U8 U avE W gUR AU SR WU &1 8} fRreror 81 T gt At &Y arben weA
P TIforer fa1-31d Sl 31 T Twg ) f 3rgpd drepd R ZT & WRT B 1 A ToRd) dua wigt @) wwpla ot
a8 981 99 $© Ugd 3R Argahiival iR R 81 9 3R 51 &R fayra #3 aral & e 39 arar o
PIS T8 81 81 98l 9g! WX & o I 3R Uit & | ThgH Fardd | IAPT YT § THA BT YT Siae g1
wafe wer & T g8 twen faRidh fRufa 1 wigt arwa ghft agt wan €1 grftl war ik a1ed To-gwk &
XA 81 T BRU ¢ % don 3 go &Y T9 HIR Fd § W 98 Tt B F T8 7w oft 5w w6
39 @I 7, W TR T W UA A FAra-a/A99! {3 8 18 SRy, of gr/@ls Jt ol 3w a% 39 =
Y FHTI° W I8 $S 8! B Tharl 39 Mt A rafial $t sned It 81 715 21 3 -\ & ofis wfge &
IAST IUT MY | 3P aRE | B T | $H I A ga-1 Aa-11 591 3 fp 98 Fion F Thia &t g o1 37
it a1 31 I8 307 Wil & Ui IoRil 3971 Ui @ $0 fia 81 fikiae dxrdadt &1 3 8t 33t =1 3t
BeAlYd g 3G 21 32 uaT @ f Ao Serht smawa, w avft/ee 3@ w=-wakiig e A 39 Wi
W} Swf, wecaTeiad, §U, ATEAT WRT g3 8 S XM BT AFaRE 3 39 4T 8 1 IR I U1 3R Fou HT
i ot @ =gt 31 adt R ? f wifta B g & a1g 3 3l A gs @ 3R T 3R 98 39 € AR
TIT S AU & 91 |1 fRaR ST 2

S TR B UG -9 U T Uy BT ITR gaT33:

- B faRI B srbert B Bt AriorT fa-3ma wvedt 32
1. I

2. ddl

3.4dl

4. 9rom

Correct Answer :-

7) <3rITeA Ao Hfaar ¥ g A & Ul B WA @1 §1 TP U S GRaR IR AR IPpid &1 § 3R
RIS 3 aT fikiae 81 98 Us aig ° §HR 9HY 3R a1 &1 81 s 31 |« siei fajieht &t srdba s
P TIforer fa1-31a Sl 31 T T o) f 31 arepd R ZT & WRT 71 A ToRi) uT wigt @t wepla ot
&fra 31 a5l 99 $© uga R aigsiar iR Ak 31 T ok g R Ry o= aral & e o9 qrar &
PIS TG 7Lt 21 T8T a8t WX § Wt It SR ol 1 Uhew wardd| IAPT UTHT | ATEE B UTHT St gl
Waf% FHar & R gg uwen A fRf ¥ el area gnft a6t war 981 gnftl wan 3k arpd te-g &



39 31 8t BRI § b dHom ) o o1 99 PR HId § W 98 Joid! fHAT A 7811 I W 39 99 DY
39 @7, W TR T W UA I FAa-a/A9@! {3 8 18 SRy, of qr/@ls J ol 3w a% 39 =
Y FHTI° W I8 $S 6! B Goharl 3 M T zarfial #t sned It 81 715 21 3/ R-A & ofis wfge &
IAST IO M | ISP aRE & B T | §H I A ga-1 Aa-11 791 3 fp 98 Fion F Tfia & g o1 g1
W war B 1 78 301 Tifta & ufa Torlt 301 vl A $o i 21 dag rdhadh &1 311 8 54t =1 3t
BeAlYd gl 3T 21 32 uaT 2 f Ao Serht e, w avft/ee 3@ w=-waviis e A 39 e
W} Swai, AEcaTaia, 3U, Tt HRT §3MT 3 SN A HT UG SFT 99 T § 1 IR IUH UISAT 3R HHUN BT
i orft @ =gt 31 adt R @ f wifta B g & a1g 3 3l R gs @ 3R T 3R 98 39 € AR
TRIT S AU+ & 91 |1 fRaR ST 2

ST T B Ugh? -9 YD T Uy BT ITR ga133:
WR- B Pt UEpTd ghid 32
1. T P

2. 370 A B TE
3. QREAR Dt
4. SR DI

Correct Answer :-

« GAR P

8) <3raTed dum wHfaar & ST A S Uell &) WA QT 81 TP Y& Wl GRaR 3R AR} IPpfd o7 § 3R
ORI S St fiae 81 U8 U a¥E W gUR IUY SR AT &1 €} fRreror 81 T gt faRieht &Y ardber we
P TIforer faA1-31d Sl 31 T Twa S f srgpd arepd R Rr ¥ WRT B 1 A ToRf) duT wigl @ wwpla ot
d 81 981 94 $© Ugd 3R ArgadhTial iR R 81 T 3R 51 R fayra +31 aral & fore 39 arar o
PIS TG L 21 T8T a8t WX § Wt it SR ol 1 Uhen wardd| IAPT UTHT H TEE B YT St gl
wafe we & T g8 twen faRidh fRufa 1 Sigt arwda ghft agt wan €1 gRftl war iR aTed Ua-gak &
XA 81 U8 FRU ¢ % don 3 go &Y g9 FIR Fd § W 97 Tt B @ T8 7w oft 5w B
39 QT 8, W TR T 9 AF 9 Fara-aa9s! faw g 78 sery, of r/ais it qoft snet a3 =
1Y AT’ W d8 $O 8] X bt I W 7 ramial # e ot 81 75 31 39 R\ € s wifike &
IAST IO M| ISP aRE B B T | §H 3o A ga-1t Aa-11 591 3 fp 98 fion F Tfia &t g o1 31
1t Tgar 81 g8 301 Wiftd & ufa IoRil 3551 o A 3o U 81 fdae sxrdadd &1 o & it s@=1 3t
FAYd E1d 3T 81 I/ TaT ¢ & Ao arenft sz, R aftee 3@ Ten-wakiig e am e SHe iR
Wt Swf, wecaTial, §U, ATEAT WRT g3 8 Sl XM BT AR 3 39 4T 8 1 IR 39 U1 3R FHu HT
i ot @ =Et 31 adt v ? f wifta &Y g & a1g 3 If R gs @ 3R T 3R 98 a9 € AR
TIT S AU+ & 91 |1 fRaR ST 2

S TR B Ugh -9 YD T Uy BT ITR gaT33:
WA- ST B Ht i afge?

1. Hgcdhial

2. Tt fayeft

3. il 107 1Y

4. Sl IHbT 01 T

Correct Answer :-

. Sl 3D U1 TMY



9) 3ruTed divm HiAar ¥ Y 7 3 Uall B WA W@ 31 TH U Wl GRAR 3R AR} Txpfa 371 @ 3R
ERT St bt Frdag 31 9% T aRE A THR WHY 3R HHIS P18 FAv1 3 | Faim Srel faieht &t srdpet
P TIfoTRT f3A-31d Ft 81 a8 99y ) % 3rpa arepd SR fFar & wRT 81 3 ol avg wigl 3t Gpfa ot
a8 1 98T 99 $© Ugd 3R ArgdhTial R fAR 31 T 3R g1 R fayra #31 aral & e 39 arar o
PIS oTE ALY 31 98T a8t WX § St Fh 3R ol &1 uhew wardd| IAPT HTHT § WTEE B U St gl
Siafes a1 & e a8 twew Rt fRufa 81 w8l a1ea gRit a8t @ar 161 gRl | &1 3R 916d Th-gR &
33 1 98 SR 3 % fion ot 9o 3t 99 FIRWT 3 § W 97 Foret {5 & 7 won i swwm
3@ T 8, ‘W B8R T 9 AF 99 Hara-dq9s! faen 81 18 PRy, gf /@S FrHt it el d% 39 9
Y THTI° W q8 O 8l X qabarl 37 W 7 el & smea +t 81 713 31 39 KA & s wilke &
IAST VT MY | ISPt ARG & BAIS T | $H e A g+t ga-1 541 3 f 98 dion & Tfia ot g a1 g7
W waar B 1 g8 s=o1 Tifta & Ul Terelt 30T ufa @ o fira €1 e Srdaeh &1 3m1 € 3t ST HY
PHeltyd ga @ 21 S udT ¢ fb <don Siaht simawy, R 9wt 5@ wen-wRiis e am e 39 iR
ft oaf, HEcaTHiad, §U, TTET URT g1 @ SN TH $T Sfrard 31 a9 T 8 1 IR ST WsaaT 3R HHM BT
e 3t T 8 8 1 a€) PR & fp Wil & g1 F 91g A 3t A g @ 3R T o 98 a9 g R
T I qU4 & 1€ |1 e STan 2

IUYed TRIRI B UgH 19 IR 7T Uy HT IR Id133:
U<H- fidag dxraad! &I AeTeraR d T geraT T2
1. oM &1 F1eH & forg

2. dion &Y &Y FHRA & forg

3. don & 399 & faw

4. T B G IR P fag

Correct Answer :-

. don s aeq F e

10) 3T dom Hiaar § 3P 7 3 vall B WA W 81 TH U St GREOR 3R GREAN Iwpia &1 8 iR
U St Srpert fiRiae 81 U8 U oXE © §UR IUY SR AT &1 81 ferror 31 I wigt faRieht &t et wet
Bt AR fa1-31a Bl 31 a5 Twa N f 3 arpd R Z1 & WRT 71 A ToRdt dua w8l &t wwpta
2a 81 UgT 99 $© Uga 3R TrgsTiar R AR 31 g iR g1 R fayry #531 aral & fore 99 qrar A
PIS SATE 81 81 T8l 98! WX & St I 3R (Uit &1 ThgH Hardd| ITPT UTNT § THA BT YT Siae g1
SafP Hal & 1T g8 uwen AR fRufa 81 wief 9w gnft aef wam 1Y ghft | war ik a1 d Toh-gik &
330 § | g8t B ¢ 5 Ao &1 a9 31 T9 SIRAT $Hd § W 98 Fordt [pat A 771 e ot s gg ot
3@ @1 3, ‘W R T O UM T HaAra-a/q9s! fae 8 18 reRY, b /@S Frt ol el a% 39 9
Y ST W q8 TO A8l X abarl 34 W 3 qrarival & smea +t 81 713 31 39 A & s ke &
JAST IUT MY | ISP ARG B BAIS T | $H e A g+t da-11 541 3 fF 98 dion & Ivfia ot g a1 g7
WY T 21 g 501 it & ufa Tt g=o1 Ul @ oo fira 81 frdae Serdbad! &1 o € 530 31 Bt
BeAlYd g 3G 21 32 uaT 2 fp <don Serht smawa, w aft/se 38 w=n-wariis Mg A 39 Wi
o} $wf, wecaTeial, §U, ATEAT WRT g3 € Wi XM BT AR 31 39 74T 81 IR I TIdT 3R HHU HT
e et g e 8 1| 98 eROT € 6 W ihid B g & 918 3 9 R @S @ 3R T 3R 98 a4 & R
TIT S qUH & 91¢ |1 fReR ST B

IUYe TRIIR Y USHR 19 IR 7T UY BT IR Id133:
T - B TH-gaR & GIAT 82
1. AT 3R T

2. Bl 3R HATDHR

3. Bl 3R dIhd



4. ST 3R HERTOM

Correct Answer :-

. BT 3R drhd

11) 3T o Hiaar § P 7 3 vall B WA 7@ 81 TH U St GRaR 3R SRR Iwpid &1 8 iR
TR St Srpert fiRiae 81 U8 U oXE § §UR IUY SR THIS &1 €1 frror 31 I wigt faRieht &t st wet
Pt AR fEA1-I1a Bl 31 I Iwa N o 3rpa arpd R Za1 & WRT 81 A ToRit dua w8l &t wwpta it
2a 81 UgT 99 $© ugg 3R IrgeTiRar R AR 31 I 3R g1 R Ry #531 aral & fore 39 qrar A
PIS SATE 81 81 T8l 98! WX & S I 3R (Uit &1 ThgH Fardd | IAPST UTNT § THA BT YT Siae g1
Waf% a1 & e g5 twen AN fRAfA 31 81 ared ghft a6t war 981 ghfti oo oik arvd tTe.gR &
330 B | g8t B ¢ 5 don &1 a9 31 T9 SIRAN $Hd § W 95 Fordt [pat A 171 e oft s qg ot
3@ @1 2, W TR T & 7 96 SAra-</Aa@! {321 81 18 3Ry, gf qu/@Ts e ol el 9o 39 7
Y ST W 98 O A8l X abarl 34 W 3 qrarival & smea +t 81 715 31 39 A € s ke &
IIST VT M | IS aRIE & B T | 3 I A ga-1 Ia-11 791 3 fp 9 Fion & Tfia & g o1 g1
W war B 1 78 301 Tifta & ufy Tt 301 vl A $o i 21 dag Swdhadh &1 311 8 54t =1 31
FeAlYd g 3T 21 I uaT ? f Ao Serft smawg, w avft/se 3@ wen-wakiis e a9 Wi
W} Swai, AgcaTsia, 3U, TTEAT HRT g3 8 SN M HT AT ST 99 T B 1 WR IHH U1 3R HHUN BT
e enft T e 8 1 98 eROT € 6 Wihia B g & 918 A 9 R @S 9 3R T 3R 98 a4 ) R
TIT S qU & 1€ |1 fReR ST 2

IUY e TR B Ugeh? 19 YD T Uy BT IR Ia13d:
- fpaat faen SRy 81 182

1. HeATa=dl D

2. AT B

3. SRETRYT BT

4, ST B

Correct Answer :-
« Al dI

12) <3rred o Sfyar & @ A S vl &) I 37T B 1 TP U S GRAR SR GRaR! IRPpfa 718 iR
R S 3 a fikiae 81 98 Us aig § §HR 9HY 3R a1 $1 81 s 3 1 |« sigi fajieht &t srdva s
Pt AIforer fa1-31a St 31 T T S f srpd arepd iR Zr & WRT 71 A ToRi uT wigt @ wepla ot
2fra 31 a5l 99 3 uga R aigsiar iR AR 31 T ok g1 R Ry o= aral & o o9 qrar &
I3 o1TE 81 &1 81 agl WX ¢ St W1 3R Tuft §1 ThgH HaTdd | ST HIWT H AR S1 HIWT dierel! g
Waf% a1 & RIe gg uwen A fRufa 31 w6l ared gnft a6t war 981 gnfti wan ok arpd te-g &
330 B 1 U8t IR ¢ T dionm &1 a9 @) 99 SR #3d § W 98 gordt [t @ 71 v W sw wm
W T 8, ‘W BR T WM AF 99 Fardg-<a/a9s! faan 8 18 Ry, g gr/as Fr qoft omet @& 39 7
Y FHTI° W I8 $S 6! B Tobarl 39 M T raival ot sned It 81 75 81 39 = & ofis wfge &
IIDT 0T MY | IFP! % H HAIS 7 | 39 o1 A ga-11 A1 911 3 % ag dfion & it &) g o1 351
it Tar 31 gg 301 Wilta & ufa vorl 31 Ui @ oo fia 81 fdag dxrdadt &1 o 8§ 3:ft 31 3t
BATYd gld <@ 81 39 Ul g b <dion et simawa, W ai/ae 59 T=r-warfs Me am e 39 fiar
Wt Swaf, wecaTial, §U, ATEAT URT g3 8 S XM BT SRS 30 391 7 8 1 IR S9H U1 3R o0 $T
e et g e 8 1 98 PROT @ o Wihia B g & 918 A 9 R @S 9 3R T 3R 98 39 @ R
T Y qUA & 91¢ |1 AR ST 3|

IUE TR B UGHR 19 U T UY BT IR 9a133:



- R w3t gl i,

I A FEL “MRERIMWAAAATT |
1. dpcfldd

2. YU

3. 9%

4. IR

Correct Answer :-

13) <3rTed o Hiyar & @ A 3 vall @) JrHA I\ 31 TP U S GRAR SR GRaR! IPpfa 718 iR
RIS 3 aT fikiag 81 98 Us aig § §HR 9HY 3R THTS $1 81 s 31 |« siei fajieht &t srdba s
P TIfoTRT f3A-I1a Ft 81 a8 WY ) % 3rpa arepd SR fFar & wRT 81 3 ol aua wigl 3t Gxpfa oft
a8 98T 99 $© Ugd 3R Argshtial iR fAR 31 T 3R g1 R Ry #31 aral & e 39 arar o
PIS oNTE 8T 31 98T a8t W & St T 3R Ioft ¥ 1 Uhew wardd| IAPT HTHT H WA B YT St gl
Wai% FHar & 1T g5 uwew A fRAfa 71 w6l ared gnft a6t war 981 gnftl wan ok arpd te-gw &
3 1 I8 SR 3 % fion &t 9o 3t 99 FIRWT F3a § W 97 Foreht {5 & 7 o M smwm
W 7T 8, ‘W BR T WM AM 99 dardg-<a/a9s! faen 8 18 seRY, af gR/as g qoft onet a% 39 7
Y FHTI° W T8 $S ol B Tobarl 3 Mt T raival ot sned It g1 75 81 39 = € ofis wfge &
IIDT 0T MY | IFP! d% T HAS 7 | 39 7o A ga-i1 A1 711 3 % ag dfion & Tl &) g9 o1 351
Wt a1 81 a8 01 Wiftd & ufa IoRdl 351 vl A $o i 81 fdae Sxrdach &1 31 € 3t 51 9t
BeYd 81d 3T 81 I/ UaT ¢ & Ao drentt sirawa, wr avfiee 3@ gen-wkiRig e A SHe Wi
Wt Swaf, wecaTial, §U, ATEAT URT g1 8 Sl M BT ARt 3 391 717 8 1 IR S9H TJwdT 3R o0 $T
e 3t T 8 8 1 9 PR & o Wil & g1 F 91¢ A 3t R g @ 3R e ok 98 a9 g R
T 9 qUA & 91¢ |1 AR Srar 3

IuYed TRIRT B UGH 19 D T Uy HT IR Id133:

7 firdag S aeh T 3T f5d 5507 B Belyd 81d 3E1 22
1. 0T & T B A B 5T

2. g FHxead 9 e &1 3=

3. GXEAR H 1l 71 1 3wl

4. TSTERER | T 1 ST

Correct Answer :-

- dlu & Hifid BT G B 51T

14) <3 T o Hiaar § P 7 31 Uall BT G T 81 TH U Sl GRAR 3R GRaR Ipid &1 8 iR
TR S bt fae 81 U8 U a¥E W gUR IUY SR AT &1 €} fRreror 81 T gt At & srber weA
B TIforRr fe-31a wR<At B1 98 T Y fF ergpa a1epd SR fFT A wR1 B1 A ot dug wgt B Sxpfa ot
d 81 98T 99 $© Ugd 3R Argadhiival iR R 81 T 3R 51 R fayra #31 aral & e 39 arar o
PIS SATE T8I 81 T8l 9g! WX & St I 3R it & | ThgH Fardd | IAPT UTNT § THA BT YT Siae g1
wafe we & 1T g8 twen faRidh fRufa 31 wigt arwa ghft agt wan =181 ghftl war iR a1ed ta-gw &
330 &1 981 B § {5 Fion &) SoH $t Ta BRI Hd § IR a8 gordt fodl I 781 e ff 39 g a6t
3T TET 8, M TR T 9M AF 99 SargaA9s! faem 8 78 3ery, 36 WS wr qoft orel a@ 3@ 7
Y FHTI° W I8 $S 8! B Gharl 3 M T zarfial $t sned It 81 75 21 3/ -\ & ofis wfge &



IHST 0T MY | IS dRIB H B 711 39 IS H 31 A1 911 3 fob a8 dion & Iiita &1 g4 &t 37
it Wgar 81 g8 301 Wiftd & ufa IoRi 351 vl A $o i 81 frdae Sxrdach &1 31 & 3t s=1 9t
BeAlYd gl 3G 21 I uar 2 f Ao Serht smawa, w aft/ee 59 wen-warii e am e 39 Wi
ot $wf, wecaTeiad, §U, ATEAT WRT g3 € Wi XM BT ARt 3 39 4T 81 IR 39 UIwdT 3R HHu HT
e enft T e 8 1 98 eR0T @ 6 W ihia B g & 916 A 9 R @S @ 3R T 3R 98 A & R
T SR TUA F q1¢ T AR e B

IUYe TRIIRN Y USHR 19 IR 7Y UY BT IR Id133:
T=A- foeT ST ) GRaR § PIg R 781 82

1. 1T 3R SfIYT A Iral Bl

2. 3 3R YT IR fayry B arell bl

3. Ayl 3R ¢ ATl 1

4. 9 3R (81 R Iy = a1l 1

Correct Answer :-

. I 3R AN IR Y B arat B

15) “3rGTeA UM HAAT A 3317 A 3 vl B WHA @1 81 TH U S AR 3R AR AP B8 3R
TR S bt fae 81 U8 U a¥E W gUR JUY SR WHTS &1 €1 fReror 81 T gt ARt & srdber weA
B TIforRr fe-31a HR<At B 1 98 T Y fF srgpa aTepd SR fFT A WR1 B1 A ol dug wgT B Txpia ot
2a 81 UgT 99 $© Uga 3R IigeTiRar R AR 31 T o g1 R Ry #1 aral & fore 39 qrar A
PIS SFTE T8I 81 T8l 98! WX & ot T 3R Uit &1 ThgH Fardd| IAPT YT § THA BT YT Siae g1
wafe we & T g8 twen faRidh fRufa 1 wigt arwa gt agt s =181 ghftl wan iR a1ed ta-gw &
339 8| g8t B ¢ T Ao &1 a9 31 99 SIRM $Hd § W a8 Fordt (ot A 7871 e +ft s qg ot
39 T 7, W TR T W UA I FAa-a/A99! {31 81 18 SRy, of gr/@Is J ol 3w a% 39 =
Y FHTI° W I8 $S 6! B Tharl 3 M A zafial #t sned It 81 75 21 3 -A & ofis wfge &
IAST IO M | ISP ARG & B T | 39 o1 A ga-1 A1 791 3 fp 9 Fion & Thia & g o1 g1
W war B 1 78 301 Tt & ufa Torlt 301 vl A $o i 81 fdag erdhadh &1 311 8 34t 31 3t
BeAlYd g 3T 21 I uaT 2 f Ao Serht smawa, w avft/ee 3@ w=-wakii e A 39 e
W} Swai, AEcaTsian, 3U, TTEdT HRT g3 3 SN M HT Aard SFT 99 T B 1 IR ITH TIWAT 3R HHUN BT
i 3t 3 T 81 9 IR § fp wiita & g & a1e 3 9t RM @IS | 3R T 3R 98 39 g e
TIT 91 AU+ & 91 |1 fRaR SITan 2

ST T B Ugh? 19 U T Uy BT ITR gaT33:
UTH- RER # {5 TR & AT W g 2

1. Y 3R Tqoft

2. 8T 31R fasyreguf

3. Yot SR gfgAH

4. 3P ATHAR 3R FTH

Correct Answer :-

- SR ol

16) WISAC §H BT IFAR & ol F1 garl,
TTd 9T @1 a=i &1 farar 8



T femsd e el
fragdtgerg sl agi A2

3R TEAR A TP TR g 3@

3R 79 U@ ToR 39 gl

BB 8T YT IR ITTey 81-a3t Sl o

averar grdl At AT uy W

ﬁg%ﬁw@ﬁw%ﬁﬂﬁmaﬂm
iﬁﬁQﬁT-

g urg, ¥ i frar §

9 o 9 4 81 o foram e

a1 b Y wie .

1 ozl Bt Tard! gfean

IUYed TEIi &1 Ugh ) YD T UY BT IR 9133

- IfSaT 99 | Hgl dedt g8 A

1. AT & T b W

2. TF R 9 SR

3. UI& ®la & IR

4.5 M

Correct Answer :-

o A R I IR

17) WS4 90 $T FISAR ¢ ol 1 garl,
T ATd B g=i &1 farar

IR iR 9 9w

TP | TP T &

Fig B IR FFeaT arat

TH I IR & garad
oo} 41 o fern

W1 IT /] FedhT



3Tt ST

T 3reaT F ToRl & I

# o At g

ERUERISEICE o I
fragHiga s agi &

3R TEAR A TP TR T 3@

3R B9 TP AR IQ @0

BB IET YT gIRT Iy SS1-a3t Sl o

avear gral 4t Fe-Trd uy w
IR TR AR AN TE Tso A 3R
3R A9 FH Iy Fgl -

grums, At foar §
ﬁawqﬁwﬁm&m

S UL P UgHR 1 I T UY HT IR qa13d:
U=H- 9 STSaR @t 3ATE] § 5 UPR &7 areqed 412
1. I dTTeY

2. faamT are

3. 4&1 ATy

4, 3{MH dlcd ey

Correct Answer :-

. it aTqe

18) WISAC a9 1 SI3aX ¢ ol T g,
T AT B g BT fUar a8
IHA R AW

R 3 T T S 3
TAD BT 41 g ITae a1-aet ol |

aeear grdl At WYL uy w



gﬁgg%ﬁnﬁﬁﬂﬁs’rﬂ%ﬂwﬁaﬂ?
DD DEl -

g urg, ¥ o far §

a1 dY 99 4 € yo ferar smud

a1 b Y wie .

I BTyl B Jardl IRt

IUY U DI UGHR -1 IS TT UY HT IR Tad154:
- 9 ST3aR & W-T18 Uy R a1 grdt A2
1, IeAdT

2. Ay

3. MHRAT

4, dddl

Correct Answer :-

19) WISAC a9 1 SI3a ¢ ol T g,
T 9Tel &1 g 1 fara 8t
IHA R AW

TAD BT 4T g ITaed 9193t ol |
aRaar grdt At H-ad g w

gﬁmaﬁwﬁﬁwﬁﬁﬁmaﬁm
HPHR el -

grurs, ¥ it foar §

91 & 99 4 €1 y© foram o

a1 o 7Y v .

51 paTgal B Yardt gfearn

IUa TR &1 Ugh A Y& T UY BT IR 9d153:
- 99 # deal g3 i34l frd UeR fa 3

1. IRM Y



2. -
3. don g
4. S P & 3TIR

Correct Answer :-

. TUPIA D IR

20) WISAT I T T3AR @ I T g3,
T AT $t g=i &1 fUarat 3

| iR & 3w

TP A AehI e &

FId DI IR ST Tardt

TH P YWR & garad
goe 71 yo Rt

QT TT /Y et

393 I 1 ge3g JAdte Ag
3feed & S grary

megf‘wma@!’ra@arr@‘rﬁ

aRardn grdt ot AT gy wR
3R 3rF 3 AT fipr A 81 71 Js o & 3R
IR A P F9T -

g, F R R §

91 & 99 4 €1 y© foram o

1 a1 Wi '

I BaTgyl B Yardl IRl

ST U= $ UgHhR -12 U 7T UY T 30 Id133:
U=H- 99 ST3aR DI ot I 1 garar 42

1. foarsht

2. STt

3. 411

4, 3sdl

Correct Answer :-



21) WISdE 99 $T ISR g 1 FT g3,
T A1 B 9= BT fUar a8
I R A 3w

s fmgdt g qfeal
fragd U gerg sl agl @2

IR TTFaR 7 TP TR T3 ol

3R A7 TP o S

BB IET YT IR ITeTey SS-a 3t Sirat o

waar gral A Fe-TAuy w®
:ﬁﬁiaegaﬁw%ﬁwﬁs’rﬂfmﬁem
FHDR Hal -
grums, At foar g
A 99§ &) yo forar sy
=1 5@ 18) wih? _
1 paTgdl B el ST
ST U= B UgHR Ai1d T 7Y UY T SR IA134:
UH- 99 H Al g3 gfedl fhaa! a1 gs 4
1. WIReH
2. T

3. G-y

4. BId

Correct Answer :-

22) WISdT S HT FIgaR § A1 FT g,
T A1 B gl P71 AT a8
I R AW



W Bl § Aol At gfaan

< gue &g A1 4

3O T

TgT 3T BI ARl & qTHA

Hfr Aaar g

Ffmsd g gfear

a9 U ger g 3% geT 2

3R SR A TF AR T @M

3R HA U ToR 39 @

BB IET YT IR aTTey SS-a 3t it o

adr gral Bt ALY Uy wR

:ﬁﬁi%g%ﬁwﬁfw%ﬁﬂfmﬁm
FPPY BT -

grums, A it o §

a’ra‘rwqé’rwﬁmwﬁ

ST YR B UgHR A1 T 7Y UY T ST IA134:
- oy 99 ® i3t aeat ff a8 ford vor $t g &

1. I §s

2. BRI

3. 3G-WRBRI
4. Tgde

Correct Answer :-

23) WISAC I T JI3AR @ i T g,
T ATe $t g=i &1 fUarat 3

| iR & IW

TP A AehI e &

FId DI IR AT Tardt

TH Pt YFR & garad
goe 71 yo Rt

QT 7T /T et

393 I 1 ge3g Adiel Ag1
3feed & S g ary

aﬁ?ﬁ%wm—ﬂaﬁ%’m
BB 8T YT IR Iy Se)-a 3t il o



avaar grdat i e-ard gy w

ﬁg%ﬁwﬁﬁwﬁs‘mﬁmaﬂm
DD DEl -

g WS, AW frar g

9t dt 99 4 & yo forar o

TR a8 wrwe .

1 Pargdl Bt Tard! gfean

ST U Bl UGHR -7 IS TT UY HT IR Iad154:
USH- 39 Hfadr & fore g A | Fi9-ar e eiftre fera g

1. gfrar &t gfear
2. SIgaR fuar

3. 99 SRR

4. dY HhT Jh

Correct Answer :-

. g st gfear

24) WISAT S BT FIEAR § A FT g,
T AT B g=it &1 farar

e iR 9 3w

TP | AP T &

FId D IR ST Taret

TH I IR & Garad
e 41 g fora

T I4T 941 et

T femsd e el
fragHiga s asi &

3R TEaR A TP TR G 3

IR 9 TP ToR I @I

BB BT YT IR ITTed 81-a3t Sl o

axeran gral At - uy wr

ﬁg%ﬁwﬁﬁw%ﬁﬂimﬁaﬁ?
DD DEl -

g urg, F o far §

at 99 4 € yo forar s

a1 b 7Y wie .

T pargyl 31 Tard! giean

IUY UL DI USHR -1 IS TT UY HT IR Tad154:
U=H- S ST3aR DI a1 AT A2



1. S

2. dl
3. ST

4. dx

Correct Answer :-

. IS

25) WISdT 99 HT FIgaR § A1 F1 g,
T 19 B 9= BT fUar a8
I R AW

Ffamsdd gl

fPa g U ger g 3! gei ¥

IR FTER 7 TF TR T @

3R A7 TS o S

BB IET YT IR aTeTey Se-a 3t it o

e grat At - gy wR

ﬁﬁag%ﬁw%ﬁwﬁé‘mﬁmaﬂam
gﬁﬁ?ﬁ]’_

g umg, ¥ i frar §

9 o 9 4 81 o foram s

TR ford g Wl .

1 Pargdl Bt Tard! gfean

ST U= $ UgHR A2 U 7T UY BT 30X I133:

UH- 59 H det g5 gfeal g W ot

1. AR

2.8

3. et
4, T[St

Correct Answer :-

o TTel



26) WTgd<T 99 P T3aR @ df T g,
T el 3t =i &1 farat 3

e iR 9 3w

TP A TP TRAT &

FId D1 IR ST Tarat

9 DI IWIR & gATaD
FHoL 41 g fora

T IET 9= et

Ffamsdd gl

fra gt gerg st agi A2

3R gTEaR A TP TR G 3

3R HA TP AR I g@n

TAP BT 4T g ITae 9193t ol |

axerar grdl ot AT Uy ww
3N 3rF 3 A fpr A 81 71 JS & 3 3R

IR A FH I F9T -

g umg, F i frar §

9t at 99 4 & yo forar o

TR ford g Wl .
1 argdl Bt Tard! gfean

ST U= $ UgHhR -2 U 7T UY T 30 I133:
UH- 59 § Al g5 gfeal [pas! oA

1. SRR P! BT B

2. SI3R DI H1AT B!

3. SIS DI Ual Bl

4. SIZR BT dC DI

Correct Answer :-

. SRR DI I B

27) WISAT S T JT3AR @ I FIT g,
T AT $t g=i B 1 fUar i 3

| iR & 3w

P q dehI e &

Fid B IR AT arat

TH P YHWR & garad
PP 47 g foran



aﬁ?ﬁ%wm—ﬂaﬁa’m
BB IeT YT IR ITTey Se1-a 3t il o

aRarar grdt ot - gy wR

3N 3rF 3 AT b= A 81 71 I 3 3R
aﬁvﬁ#gww

gf s, F R R §
a‘ra‘rwqé’rwﬁmm

ST U= $ UgHhR 12 U 7T UY T 30 Id133:
- S STSaR Dt a1 3t 3y frast &

1. Qg 9y

2. QA Y

3. A Iy

4. BRE IY

Correct Answer :-

28) WISAC I HT ITaX & ol FT g3,
T 1A P I BT fUdr o) g
;rmﬁﬁmﬁw

1 famedt § gfeat
fw g 9 ge1 ¢ 37t Tgl A2
3R IER A TP TR g T@T



3R A7 U@ ToR 34 <@
BB TET 4T IR aTTed St-g8 sifal o

awadr grdl i Y- uy R

3R 3@ @ frmg iR A 81 78 He e 3 iR

IR A PR Be -
g s, & oft R §
ﬁawqﬁwmm

IuYed U= B) Ugh? 19 UD ¢ Uy P IR Iad133:
UH- g AT’ gt A $fa &1 @ areud 82
MEECEE|

2. R-ER U9

3. d&1 gard UH

4. i Um

Correct Answer :-

. Fyaun

29) UTgdT S BT GI3aR ¢ dl T §al,
T ITd &1 F=i BT far ar 31
e iR 9 3w

TP A AT Wl §

PIa Pt TR gfeAT Tarat

9 3t YRR & Jarad
fardt et 5.
wﬁ%tﬁ;ﬁm

QT TR W et
a{%wmgmﬁiﬁwﬁ'w
3w & s g1 a9

1 fmrsdt € gfsar

forq g @ ge1 ¢ 371 TeT A2

3R SIER A TP ToR g S@T

3R #7 TP R S &I

BB TET 4T giR aTTed St-a8t sifal o

avadr gral A Y- uy w®

:ﬁﬁiggaﬁw%ﬁwﬁﬁﬂimaﬁam
g g, A W faar g
a’ra’ra&qqé’rwmm



ST Ui B UgHR 19 U T Uy BT IWR JaTsd:
- S99 SISaR 30+ At P =T garar 82

1. fofean

2. qf¥n

3. gedl

4. A

Correct Answer :-

30) WT3dT S HT SI3aR © o T §3l,
ITd 9T BT gt BT fOar ot 8!
I R | SRR '

e grdt <t H-Trd uy w®
?ﬁzaﬁaﬁ%ﬁwﬁfﬂwﬁﬁﬂﬁmﬁsﬁ?

g urg, # ot e §

at at 99 § € gz forar smud

AT ford =Y uiwhi? _

51 parsdl @t Tardt grean

ITad URIIRT ) Ugh: -9 UD T UY HT IR 9133
URH- T $IaX PT AGA AT UT?

1. Tt

2. YT g
3. JfSar

4. B



Correct Answer :-

Topic:- Social Science (S5C)

1) Which organization has established the Financial Mechanism named The Green Climatic

Fund? | Tr8 W89 A gWA FaSAfe® e AH 31 faxita yomelt wifta &1 82
1. WWF / S&gS&gUth

2. UNEP / qUAU!

3. UNFCCC / gUAUGHIL

4. UNDP / QuTSIUl

Correct Answer :-

« UNFCCC / QUAUGH IRt

2) Which Greek ruler or ambassador became Vaisnavite and erected Garuda Pillar at Besnagar?

/ 5| A I a1 Ieigd A AWId §HPHR SR § TS WY SEa[T?
1. Alexander / 3G 8%

2. Selucus / @W
3. Heliodorus / 8eraT8 Y

4. Demetrius/ aﬂﬁm

Correct Answer :-

« Heliodorus / %ﬁmﬁsﬁw

3) The main objective of setting up a social science library is: / LICISED ﬁ?ﬂq JIddIeiy
W $A BT 1 S22 2l

1. For recreation and enjoyment / ARG 3R 3MHe & forg

2. As place of preparation for competitive examinations s wfeamd odemsif Bt U & R &
EUH

3. To enable the pupils, engage in self-study and for reference / faenffal & Ta-srerga § Tow
AT AR Hey & forg Fem s

4. As a common place for independent study/w G{Wé;ﬁ”mw HIHIR wille HEUH

Correct Answer :-



« To enable the pupils, engage in self-study and for reference / faeniyal ol a-3reqg § god
BT SR ey & fore Fem s

4) The evaluation which compares a person’s knowledge or skills to the knowledge and skills of
a particular group is known as: / dg HJcIh < f<lt safaa & B 3R Bz P LEEL
forft faRiv Iy & 91 3R P | HRaT 8

1. Criterion-referenced evaluation / HTG8-T&(1d Heih

2. Formative evaluation / FHTONE® / TS Hedidh-

3. Norm-referenced evaluation /3¢ 1rd HAih
4. Summative evaluation / AT / b aTED / ifdH Tedid1

Correct Answer :-

« Norm-referenced evaluation /31f+1d fR1d W

5) Milindapanho text is in the form of a dialogue between the king
Menander and Which Buddhist monk? / fiftigu 3y e fimvss oz fre
¥ gl & it aratarg &1 qof= 32

1. Nagasena / ARTRIH

2. Nagabhatta / A1THS

3. Nagarjuna /:lFﬂT{I'rI
4. Kumarilabhatta / 4R Hg

Correct Answer :-

. Nagasena /A

6) A Commission to review the working of the Constitution was appointed by Government
of India under the Chairmanship of ./ HRd YD GIRT 31 reerar o
Ay & o1 ot JHlen & fore v st frge fasar war

1. Justice Sabyasachi Mukherji / :CITCI'{% It %Tvﬂ:
2. Justice Ranganath Misra / QJTQ'{% RUCIAEE]

3. Justice J. S. Venna/:qmji%@f.w. aqt

4. Justice Venkatachaliah / ?Tl'quﬁf dee=raan

Correct Answer :-

« Justice Venkatachaliah / ?Tl'qrﬂ%f dareaad



7) Topics of study suitable for the age, ability and interest of children are included in the
curriculum are known as ./ =N B 3T, e 3R S & fore Suyge siemua &
fawal & ureusrw A i@ fParsrar 3, o weTmar gl

1. Topical approach / GTH RIS gf¥DIu

2. Unit approach / SHTS VBT

3. Spiral approach / it efderor

4. Chronological approach / m GRECIL|

Correct Answer :-

 Topical approach / RS BB

8) Black money is also known as ./ BT U9 Bl & wu § Y 5T Srar

gl
1. Dynamic economy / urafies srferawa
2. Moderate economy / H&HH 3f JeaRl

3. Parallel economy / THFIR 3rfcqat

4. Stagnant economy / R srfaarn

Correct Answer :-

« Parallel economy / JHMIGR 31 AR

9) “Nature provides opportunities and human being make use of these” is central theme of
which of the following geographical philosophy. / "'Fl'q;ﬁ 3R YSH Bl g 3R AFg
DT IUANT Heal 3 7 | A 5w Wi gxi-=med &1 dfia fawa g1

1. Possibilism / GHIATG

2. Marxism / ATRIdTG

3. Feminism / TRIATG

4. Determinism / fAafdarg

Correct Answer :-

« Possibilism / GHIdIG

10) In which case the Court ruled that nobody, not even the Parliament (through
amendment) can violate the basic structure of the Constitution? / g wmwe § =maray A



T faar o ol Y, ggi a& fo dq (M= & Jred ) Siaur & g i &1
I Tl PR THdT 82

1. Minerva Mills vs. Union of India / oot freg s9m9 URa 99
2. Mukti Morcha vs. Union of India / H@f nﬁfaﬂm HRd 99
3. S. R. Bommai vs. Union of India / T9. 3R, 13 &1 YRd T4

4. Kesavananda Bharati case / ab-‘lldl'-ic‘( YR UbUl

Correct Answer :-

« Kesavananda Bharati case / HYAHG HRA! BT

11) Who established the Indian Statistical Institute? / YR HifkST® T AT B TITYAT
P @12

1. Jawahar Lal Nehru / STATgR @I 78

2. V.K.R. V. Rao / d1. &. 3R. 4. 314
3. R. C. Desai / 3R, T, aﬂl'ﬁc
4. P. C. Mahalanobis / o}, 9. q@m:nm

Correct Answer :-

« P. C. Mahalanobis / o}, 9. ﬂ_@l?‘l:nm

12) Who can increase the number of judges if deemed necessary? / gfe smaza® HHLT SITY
o =arardien B 1 P 9e1 HhdT 872

1. President / ?TgEIﬁf
2. Chief Justice / T =TT

3. Parliament / 999G
4. Cabinet / AfFHsd

Correct Answer :-

« Parliament / 99

13) Who is the exponent of Play-way method? / -4 fafyr & ufeures #9 %'?
1. Maria Montessori / HTRYT ATCTA

2. Friedrich Froebel / ;bSi\QOb Lb\lalﬂ

3. D.W. Allen/ Sl. ¥, TaiH




4. Jean Piaget / Site oS

Correct Answer :-

o Friedrich Froebel / ;bSi\QOb w\&m

14) Who can create Vidhan Parishad in a State? / ITod H fau= tlﬁ'ﬂ? &1 fFafor P B3
Tl 82

1. Chief Minister / H_@Itﬁﬂ

2. Governor / JISIUTd
3. Cabinet / AfHsd
4. Parliament / 99

Correct Answer :-

 Parliament / §9¢

15) India Gate was built as a memorial to the soldiers of ./ Eﬁ'{qT e &I

& Af®l @t Wia T e RS & U T F91971 7497 AT
1. World War 1 /U8l fdRagg

2. Indo-Pak War 1965 / HRd-UI® Y& 1965

3. Bangladesh War / SCITGRI g

4. World War II / w ﬁ?ﬁ'ﬂ?&'

Correct Answer :-

. World War I /Ugd favagg

16) has the sole right to mint coins. / _% Ty Ryad TIE% DI THHA
IfUPR B

1. State Bank of India / YR X dh

2. The Reserve Bank of India / YR Rerd s

3. The Commerce Ministry / q1forsg HATerg

4. The Government of India / HRd YIh R

Correct Answer :-

o The Government of India / HRd YIh R



17) is a community-based poverty reduction programme being implemented in

Kerala for the emancipation of women. / , TR 'FI'%FITGﬁ' &t H%[ & ﬁI'E U
-3t T AR srfeu 21

1. Kudumbashree / W%ﬁ

2. Kudumbayogam / W’Cn"'l'q

3. Kudumbasametham / Wﬂﬁw
4. Kudumbavilakku / PgHidedd

Correct Answer :-

« Kudumbashree / Hgtadl

18) evaluation is school based and aims at all round development of the student. /

YT ¥ d MUTRd § 3R B & gaffivr ey #1387 81
1. Intermittent / 3{TcRTAD
2. Continuous and Comprehensive / Hdd 3R HUH
3. Periodic / ATHRI®
4. Phase-wise / XU-dIR

Correct Answer :-

« Continuous and Comprehensive / Hdd 3R IS

19) The members of the Rajya Sabha are elected for a term of /IS YT &

e ®l__ & SRIDA & oI g1 ST g
1.6 Years / 6 9%
2.2 Years /2 T4
3.4 Years / 4 T8

4. 5 Years / 5 9y

Correct Answer :-

. 6Years/65l'5f

20) The Directive Principles of State Policy have been adopted from Constitution. /

I iy & iy e a@ ot ¥ IRYE A AT TR
1. Netherlands / :ﬂmg



2. Swedish / Wifew
3. Trish / AR
4. Canadian / GEIGRE]

Correct Answer :-

o Irish/ SN

21) The Pioneer of activity-based learning is J Tifafafy-smenfed Sifenma &
YW D gl

1. John Dewey / i Stal

2. David Horsburgh / sfag ﬁﬁ@"f
3. Robert Slavin / (eC ¥QTA-

4, Adam Wesley / UsH GESy]

Correct Answer :-

« David Horsburgh / sfag E'W

22) The emission of gas as a result of the greenhouse gas effect from various
agricultural activities causes negative impact to the society. / fafira q?f& nfafafera |
He1s¥ {9 & yuTa & uRumRaEy A T I JTATIRVT TR
TPRISS YU STl 3 |

1. Chlorofluorocarbons / GK’I\I Q\I Hﬂ\l Q\I D] ®|r -

2. Helium / §ifcrag

3. Nitrous oxide / TSCY JHFATSES

4. Ammonia / raf=ar

Correct Answer :-

+ Nitrous oxide / Ig¢H RIICRIESE

23) The technique for generating creative ideas and solutions through intensive and

freewheeling group discussion is known as ./ e 3R IR aqaaaf% AT |
TP FARY R THIUT I0H B P abAd B S &0 & S ST 8|

1. Panel discussion / O I=f
2. Brainstorming / § Saitadn

3. Dialogue / ¥dTq



4. Debates / dTe-fadre

Correct Answer :-

« Brainstorming / § STt

24) The Integrated Rural Development Programme (IRDP) was introduced in

/ TBIPpd UTHIvT fa T HrisH (IRDP) H 3wy forar mar uti

1. 1971
2.1973
3. 1966

4. 1978

Correct Answer :-

» 1978

25) Which of the statement regarding Barbara caves are true? / dIRaRT '{IW\’rh' ey d

frafafea d S P T HUTHE o2
i. These caves are the oldest surviving caves./ g Hq?lﬁ a§d HTF-ﬁ Shifad 'ﬁCFI'ﬁ gl

ii. They were built during the reign of Ashoka. / SIPI ator s & IRAETa A gl
YT

iii. They were dedicated to Ajivikas. / d 3SHfI®T B THITT &1
1. All are correct. / 4T ﬂﬁ %I

2. Only ii / hdd ii

3. Only I/ &ad i

4. Only iii / Pad ii

Correct Answer :-

« All are correct. / 4T ﬂ_saf %I

26) Which of the following has highest Albedo? / FfIRad # ¥ fraemT Tedlst
(IBTRITFUT) Ta 34fF giar 82

1. Fresh Snow / diSft fgd
2. Sand/i_d

3. Forest / d-

4. Dry Soil / g1 gaT



Correct Answer :-

e Fresh Snow / FﬂTrﬁ]%T[

27) Which of the following was the main objective of first five year plan of India? /

fFrafafad ¥ 9 o9 URd It UyW TIasia IS ST 48T 3£ UT?
1. Service sector growth / Jq1 aa faerg

2. Industrial growth / 3Nt oy

3. Agricultural growth / @ﬁf ICEI|

4. Growth in manufacturing / ﬁﬁTﬁ'UT T faerg

Correct Answer :-

« Agricultural growth / ?f@f fawrg

28) Which commission identified 3943 castes as Other Backward Classes and recommended
27% reservation in government and semi government jobs and admission to educational

institutions? / fpT TANT A 3= FUTST T & = A 3943 WTfA} & Uga= &1 3R
:ﬁwﬁ@aﬁwﬁﬁwﬁﬁaﬁ?ﬁ&mmﬁmﬁzm 3R & &1 Rywrfyer

1. Kalelkar Commission / HTAADB TN
2. Mandal Commission / Hed TN

3. Ramanand Prasad Commission / JHTHG YIS SR
4. National Backward Classes Commission / TI@H IEEE] T ST

Correct Answer :-

« Mandal Commission /IIBFT 3TN

29) Which Amendment introduced the word ‘Socialist’ in the Preamble to qualify our

‘Republic’. / f5T T=MLA A FHR UG B 3EdT UTWd B & forg, yeama-m o
HHTSTATS e 1 XA foar T Ut

1. 42nd
2. 46t
3. 48th
4, 44th

Correct Answer :-



30) Social Science exhibitions, fairs and cultural shows are meant to . | JTHTTS

fasm ueafR, Ad ok iRl Sy BT SRt gl

1. provide a creative channel for learners / ﬁT&ﬂfﬁ & ﬁ’l’Q U JyolqIHD a:ﬂ Uald hAT

2. show the talents of social science teachers / JTHTOTE® Iraill"l ﬁT&Iﬁff CARCIGEN Q@Fﬂ

3. increase the reputation of the school / ¥ ¢f CARRIICHE]

4, invite and entertain the parents ) ATT-FOrdT B AT 3R IhT HARS BT

Correct Answer :-

« provide a creative channel for learners / ﬁT&m & f%fQ Uh i oqIHD SEN Uql Dl

31) To know the opinions of learner’s on the ‘Right to Education’, the teacher uses which of

following processes? / Rrem &1 SiftrpR fawg @@ ﬁT&‘le PIIA A& ﬁfq, Rre®
frafafea o 3 foea ufshar &1 SuahT swar 32

1. Shows a video clipping / Ueb IS faaftT fearar g1
2. Gives a project / TRTISHT (Woide) ST B |

3. Conducts a discussion / T SATAITd HRAT & |

4. Provides a problem / b FHX[ odn % |

Correct Answer :-

« Conducts a discussion / IT AT HRaT %|

32) The term “Civics’ in Social Science text changed to ‘Social and Political’ with the

recommendation of: /Wﬁﬁ?ﬁﬂﬁmﬁﬁm% \?rl'ﬂ?:’ﬁlw RTINS AR’ Wﬁ
AIRIS R IeHifae: | agd fear mar: -

1. Secondary Education Commission / TP fRI& ST
2. NCF 2005 / TTRITW 2005

3. Justice Verma Committee / 1 aﬂf grAfa

4. NPE 1986/ qué 1986

Correct Answer :-

« NCF 2005 / TTIT®H 2005



“The central function of Social Science is identical with the central purpose of education i.e., the
development of democratic citizenship”, was stated by: /

TS fa9 &1 Heia S Rren & Fita S & 99 B, 3rdfa, diddais
AN ST &1 fasrar, a8 A gRT @81 ™7 UT-

1. James High/a'ﬁq 61'5‘

2. J.F. Forester / @fw TR

3. John V. Michaelis / ST @, Ilm
4, Edgar B. Wesley / USTIR CIRCE|

Correct Answer :-

« John V. Michaelis / ST 9T, ATg T

34) In Vedic Era, Akhyani was the goddess of which of the following? / aﬁ?ﬁ qT H «3rayuf}>

frafafeaa # 3 feast &t 4z
1. Forests / d-

2. Rivers / Afeal

3. Fire / 3{TU

4. Peace / XMifd

Correct Answer :-

o Forests/d-d

35) The scaled-down teaching encounter in class-size and class-time is known as ./

m&ngmaﬁ?$&n%wﬁﬁ1&mﬁaﬁﬁmmﬁm, & =0 H ST
STdT

1. programmed instruction IIERRREEY
2. micro teaching/G&H TRI&UT

3. simulation /RIGARM (3HR)
4. team teaching / €1 TRI&01

Correct Answer :-

+ micro teaching/Y&H fRreror

36) Which of the following cities was the capital of India from 1772 to 1912? /
Frafafea ¥ @ o a1 e 9d 1772 3 1912 96 YR 3t ASUTHT UT?



1. Daulatabad / GreidTaTg
2. Delhi / facett

3. Bombay | Sid

4. Calcutta / il

Correct Answer :-

. Calcutta / ddhdl

37) Ahmad Shah Abdali invaded India for the first time during the reign of which among
the following Mughal Emperors? / frgfafaa qi1d Ul A 9 foud Iaaerd A 3fgHq XTe
JfSTelt A HRT U= Ugdl 91R AThHUT far 42

1. Ahmad Shah / 3gHqg R0Tg

2. Muhammad Shah / HeHq RTe
3. Shah Alam-II / RITg 3ATAH-II

4. Akbar-11 / hdR-I1

Correct Answer :-

o Shah Alam-I1/ RTg HATTH-1T

38) CCE stands for: / @ﬁ?ﬂi Bl Hddd %:

1. Continuous and Cumulative Evaluation / Tdd 3R T4t J™ich (d?T'CnIfqu{-l TS d&;_lj-cl\\iéd

2. Continuous and Cumulative Examination / ad 3R ol usier (Ob\I'anIfQLq{-I us dﬁljj\ai?id

TSSAITHR)

3. Continuous and Comprehensive Evaluation /WHWWW (mﬁg
BIAfTeRId 3aegT)

4. Continuous and Comprehensive Examination / Sdd a1 FidaR0l TRI& (i< =gy TS
LY ESCRECT I ENE)
Correct Answer :-

» Continuous and Comprehensive Evaluation /WHWWW @WQ@I

39) The exponent of theory of multiple intelligences is: /EIE-!T[%T‘HT Rrgr & ufaurcs
g

1. .P. Guilford /o1 0. fidwIe



2. L.L. Thurston / ¥d. Td. YT
3. Howard Gardner / Em ‘Ilé:lq

4. Robert J Sternberg / JTeC o T

Correct Answer :-

o Howard Gardner / E'\I%R-‘f T Ié'_ﬂ

40) Branched programming is also known as: / i< TRt &1 A= e & Y S s %I
1. Intrinsic Programming / 3{iafep gramfET

2. Extrinsic Programming / ST&J FIBlED

3. Straight line Programming/ teft Y@ T

4, Skinnerian Programming / feep-ig= grnfai

Correct Answer :-

« Intrinsic Programming / 3{ldiRe T

41) The World Trade Organisation was established in the year

Dt RITIAT ¢ T gs

1. 1995

2. 1991
3. 1994

4. 1989

Correct Answer :-

e 1995

42) Which of the following is not a characteristic of Palaeolithic Age? | fFraffafea o
| P-I RIUTI0T H1d o1 T fa=iwar 781 872

1. The Paleolithic also used microlithic stone tools. / YTUTHTOT ﬁ&ﬂTQ'Jﬂ'q TR & e &1
AT R Y|

2. During the Paleolithic age hominids grouped together in small societies such as bands./

TRTATHIO] BT & GRM SIS 86 ol BIC JHTSl § Tdh 1Y THgax U

3. The Paleolithic is characterized by the use of knapped stone tools, although at the time
humans also used wood and bone tools. /QQTWWTH%WW% SIOTRI & JUIRT
T UgAMI ST 8, 8Tl 39 THY AFd ddhe! 3R 851 & SHISRI &1 Ht ST &vd U




4, They subsisted by gathering plants and fishing, hunting or scavenging wild animals./ Gl

Tl P ZHGT Hh 3R AS T THSHR, RBGR HIP AT WL §U SITCH SIER] bl WIhR Siifad
TEd Ul

Correct Answer :-

« The Paleolithic also used microlithic stone tools. / YRTUTHTUT ﬁ&ﬂTQ"Jﬂ'q TR & e &1 off
AT R U

43) Who fought Mohammad Ghori at Battle of Tarrain in 1191 and 1192 ? / 1191 GﬁT 192 H

WRIZA & g H HIgWIg NI &1 gohraal fa fosar 2
1. Lakshmana Sena / T&H0T 1

2. None of them / E:Iﬁﬁaﬁé:ﬁﬁ

3. Jaichand / SId—<

4, Prithvi Raj Chauhan / qta? Xl Eﬁ‘s’ﬁ

Correct Answer :-

+ Prithvi Raj Chauhan / q&‘:ﬂ NEECIRE
44) CANCELLED

When farmers sell a portion of their agricultural goods in the market, it is called ./

oe P, TeR F ot R g pT e RETITAR, S/ weIwmarsl
1. Marketed surplus / fauford iRy (@1dh s Tw)

2. Marketed output / fauford Idre

3. Surplus goods / 31TIRY AT

4. Total output / P TG

Correct Answer :-

« Marketed surplus /ﬁ'q-falﬁ SRy (HI% S SRUNES)!

45) Literacy refers to: / dT&Rl BT arad ]
1. Reading only /had EIET:T

2. Speaking only/ $Had dia-

3. Writing only/ dad fora

4. All of the above / SURTa Tt




Correct Answer :-

« All of the above / SWRIad G4t

46) During the reign of which ruler of Bahmani kingdom was the capital
shifted to Bidar from Gulbarga? / SgH-1! GTUTSY & by TS & ATAARTA &
SR IS AT o figR RHiaRd $- & Tt A2

1. Ahmad shah / 3{gHq R0g
2. None /ﬁﬁ“@f?ﬁé?@

3. Aluddin shah / 31€’I|3€|:| QUTe
4. Vira shah / ﬁ?TQTI_G'

Correct Answer :-

o Ahmad shah / 3{6Hq Rl

47) Which ruler of the Vijayanagar empire wrote a famous book 'Amukta

Malaya'? / fOSFTR amTsa & f5a e A T Ui G5 '@l gaa’ ferdt o
1. Harthara / Eﬁ_@?

2. Dev Raya 11 / §@ I 11

3. Dev Rayal/aaml

4. Krishna Deva Raya / $WI¢d I

Correct Answer :-

« Krishna Deva Raya / $W[¢d I

48) was the committee constituted on ‘Revitalisation of Panchayati Raj

institutions for Democracy and Development’. / Apad 3R far g & ﬁI'Q Ul IS
RT3 & TRIGR' afifa &1 e+ fobam war am

1. Ashok Mehta / 3IMPH ﬁ%?ﬂ
2.G VK Rao /ST d & Ia
3. L M Singhvi / T T R¥gdt

4. Balwant Rai Mehta / dddd I J:IE§('1I

Correct Answer :-

« LM Singhvi/@@ﬁrﬁ



49) Which ruler defeated Harshavardhana? /mwﬁiﬁhﬁhaﬁm?

1. Vasudeva of Chahamana Dynasty / t?lsl"l (dTgHI) CRIK ?ﬂﬁa_d
2. Nagabhatta I of Gurjara Pratihara Dynasty / ?!qu gfigR d & ANTHE UYH

3. Pulakeshin II of Chalukya Dynasty / T d=I & Hﬂw IR
4, Shashanka of Gauda dynasty / Tﬁg I & URMP

Correct Answer :-

« Pulakeshin II of Chalukya Dynasty / < CRIED g?r%iﬁ fgdra

50) Arrange the following events in the order of their chronology:
1. August Offer

2. Poona Pact

3. Third Round Table Conference

4. Khilafat Movement /

frafefeEa gesil @1 7% Frawa & HH | Fafeud o3:
1. S Udld

2. QAT U

3. THRIRT MeHs THaA

4. @ srigie

1. 1-2-3-4

2.4-3-2-1

3.2-3-14

4, 4-2-3-1

Correct Answer :-

. 423-1

51) During the integration and merger of states after India’s independence, the Government
of India rejected the farman of which State’s ruler? / HIRd P IqdTdT & 91 ISl B
THIHRYT 3R T & IR, HRT IWBR 7[5 I & WS & BIAM B SO R
o fear?

1. Raja of Kashmir / HRAR o Tl



2. Ruler of Travancore / JTAUIH IR & D
3. Ruler of Junagarh / S[1l'Te & AEH

4, Nizam of Hyderabad / %C'v{ldld & i'\'l\_SiIH

Correct Answer :-

« Nizam of Hyderabad / 8&RITG & ST

52) On which of the following proposals Mahatma Gandhi remarked “A Post-dated cheque

on a crumbling bank”?/mw%ﬂﬁﬁaﬁﬁmmﬁwﬁmﬁaﬁﬁ?"wmﬁ
ARG BT AP 4T, FoRIPT oF AP B arar >Ti?

1. August Offer / 3 Udld
2. Communal Award / JTIGIRI% gIhRR
3. Government of India Act 1935 / HRd IRBR AfAIH 1935

4. Cripps Mission / Tt fo=H

Correct Answer :-

« Cripps Mission / foh e {2

53) Tibetan Plateau can be best placed in which among the following categories of Plateaus?

/ fsadl 3R &1 UoR &1 fFafaRad o & fod RIE U= 341 &I 9odT 82
1. Intermontane Plateau / 3dRTId AT TSR
2. Dissected Plateau / fa=sfed ueR

3. Volcanic Plateau / ﬁlﬂTﬂ@'ﬁ[ UsR

4. Continental Plateau / HETGIUNT TSR

Correct Answer :-

. Intermontane Plateau / 3dRTId g TSR

54) Stream flowing in the direction opposite to the original consequent slope is known as. /

TR srgaddt ea & faudia fazn § yaifea ur1 ot fFw & Sy A ST Smar 81
1. Obsequent/ﬂ?jl_'ﬂ_cﬁ
2. Resequent / qaﬁa?ﬁ

3. Sunsequent / Hﬂﬂ?ﬁ
4. Insequent / A



Correct Answer :-

« Obsequent / Q@Iﬂﬂ_vﬁ

55) What percentage of the world's volcanic activity occurs within the oceans? / fay #t

SaTATHE At o1 faen ufosra AeranRi & iR gt 82

1. 40%
2. 50%
3. 70%

4. 90%

Correct Answer :-

e 90%

56) Which of the following is the largest mangrove forest in the world? / frrafefed k|

o1 Ay d ged ST AMT I 87

1. Greater Antilles Mangroves, Cuba / DIty Qﬁm ﬁﬁ;ha, Hdll

2. Sumatra Mangrove forest, Indonesia / FHTAT T da-, ESIRIEW
3. Bahia Mangroves, Brazil / EIT%'EIT ﬁ'?;ha, SIS

4. Sundarbans Mangrove forest, India / J&x& EDIE d-, HRd

Correct Answer :-

« Sundarbans Mangrove forest, India / J&xa TG o, YRd

57) The Gandhi Sagar Dam is built on which river in Madhya Pradesh? / Tieh AR Ty

A U § 6 1 ©R 9 man 2
1. Narmada / THaI

2. Tapti / AT

3. Son /

4. Chambal / TS

Correct Answer :-

o Chambal / ECL|

58) Guantanamo Bay is located in which country? / LCIGIRIC] E’ITSQT fPacdfRE %?



1. Cuba / HdI
2. Haiti / &l

3. Bahamas / dalHTH
4. USA / 3HT

Correct Answer :-

. Cuba / TGS

59) The Dehang-Debang Biosphere Reserve is located in which among the following states? /
frafafaa o 3 fra =g d Sgin-gai Savisd fiod fRa g2

1. Arunachal Pradesh / 3{SUMAd UG

2. Manipur / HIOTQY

3. Assam / SHH
4. Sikkim / RifdpH

Correct Answer :-

« Arunachal Pradesh / A>UMHA m

60) Solar Valley, world’s largest solar water heater manufacturer is located in which of the

following countries? / fafafaa 7 3 foa 3z # gier ardt, Iy s19ed qslI R o
e fatar fRya 82

1. Japan / SITYTT

2. China / CiC|

3. Australia / &@ﬁﬂ:ﬂ
4. Germany / STHAT

Correct Answer :-

e China / CiC]



